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NEW QUESTION 1
What is an accurate statement about Governance?

A. Restrict access to certain users
B. Ensure removal of security risks
C. Authorize policy-making decisions
D. Demonstrate adherence to polices

Answer: C

NEW QUESTION 2
What accurately describes an iSCSI HBA?

A. Performs both iSCSI and TCP/IP processing
B. Requires CPU cycles for TCP/IP processing
C. Requires a software adapter with built-in functionality
D. Enables transmission of data through iSCSI tunneling

Answer: A

NEW QUESTION 3

A Fibre Channel switch has eight ports and all ports must be operational 24x7. However, a failure of Port 5 occurs on a particular week as follows:
* Monday = 11 AM to 12 PM

e Thursday =7 AM to 11 AM

e Saturday = 11 AM to 1 PM

What is the availability of Port 5 in that week? A. 93%

A. 94.1%
B. 95.8%
C.97%

Answer: C

NEW QUESTION 4
Which cloud deployment model allows provisioning of a cloud infrastructure only for use by a single organization having multiple consumers?

A. Public cloud
B. Multi-cloud
C. Hybrid cloud
D. Private cloud

Answer: D

NEW QUESTION 5

Which technology decouples the OS, applications, and user state from a physical compute system?
A. Application virtualization

B. Storage virtualization

C. Thin client virtualization

D. Desktop virtualization

Answer: D

NEW QUESTION 6

What does an area ID represent in Fibre Channel (FC) addressing?
A. Group of switch ports

B. Switch within a group

C. Port within a group

D. Group of switches

Answer: C

NEW QUESTION 7
Based on the exhibit, what does the "X", "Y", and "Z" represent in a NAS environment?
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NAS Clients —

X =FC SAN, Y = IP Network, and Z = NAS Gateway
X = IP Network, Y = FC SAN, and Z = NAS Gateway
X
X

FC SAN, Y = NAS Gateway, and Z= IP Network

A.
B.
C.
D. X = IP Network, Y = NAS Gateway, and Z = FC SAN

Answer: D

NEW QUESTION 8
Which type of zoning does the "X" represent?

N
Compute o
System M
Hyparvisor
W 10:00:00: 00 C9: 20 D0 40

Compute o fa
System WM L]
Hvparvisee

VWIS D0 00:00:00:C9: 20: D0 56

Switch Domaia [D = 15

Compute
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A. Fabric zoning
B. WWN zoning
C. Mixed zoning
D. Port zoning

Answer: A

NEW QUESTION 9

Storage System

WX 20:08:04:81:E8:91:2B:9E

Which Internet of Things (IoT) component is responsible for the automation of operations by applying a force based on the dynamics of data?

A. Actuator
B. Switch
C. Sensor
D. Gateway

Answer: C

NEW QUESTION 10

What accurately describes a shared pool in virtual provisioning?
A. Should contain only homogeneous disk drive types.

B. Supports a single RAID protection level.

C. Consists of only a virtual storage volume.

D. Should contain only physical drives with different sizes.

Answer: B
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NEW QUESTION 10

In the event of a disk failure, which RAID level enables quick data reconstruction?

A.RAID 3
B. RAID 5
C.RAID 6
D. RAID 10

Answer: C

NEW QUESTION 11
DRAG DROP

To authenticate a user using OpenlID authentication control, what are the correct sequence of steps?

User provides consent to profile shanng

User sends a login request using OpenlD

Authentication response is redirected to the
orgamzation providing the services

Authentication request is redirected to an OpenlD
provider

A. Mastered
B. Not Mastered

Answer: A

Explanation:

User provides consent to profile sharing

STEP 1

STEP 2

STEP 3

STEP 4

User sends a login request using OpenlD

User sends a login request using OpenlD

Authentication request 1s redirected to an OpenlD

provider

Authentication response is redirected to the
organization providing the services

Authentication response is redirected to the
organization providing the services

Authentication request is redirected to an OpenlD
provider

NEW QUESTION 13

User provides consent to profile sharing

Which product delivers virtualized or hosted desktops and applications through a single platform?

A. VMware Horizon

B. Dell EMC VxRail Appliance
C. VMware NSX

D. Dell PowerEdge servers

Answer: A

NEW QUESTION 17

Which product provides an organization with the power to search and analyze vast amounts of data in one place and helps administrators to discover suspicious

event trends?

A. Dell InTrust

B. Dell Change Auditor
C. VMware AppDefense
D. VMware AirWatch

Answer: A

NEW QUESTION 21
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What does the "X" represent in the exhibit?

NEW QUESTION 25
When using a bridged iSCSI connection, which components facilitate communication between gateways?

A. Compute system with iSCSI ports and the storage system with Ethernet ports.
B. Compute system with iSCSI ports and the storage system with only FC ports.
C. Compute system with FC HBA ports and the storage system with only FC ports.
D. Compute system with FCoE ports and the storage system with iSCSI ports.

Answer: D

NEW QUESTION 29

What accurately describes hypervisor-based continuous data protection?
A. Virtual appliance is running on a hypervisor.

B. Journal is stored in a virtual machine.

C. Virtual appliance runs on a storage system.

D. Replica volumes are created in the hypervisor.

Answer: A

NEW QUESTION 33

When implementing a full mesh topology in a Fibre Channel (FC) SAN environment, what is the effect when there is an increase in the number of switches?

A. Reduces the available node ports for ISL connectivity.
B. Increases the load on the ISLs due to traffic aggregation.
C. Increases the hop count for compute to storage traffic.
D. Reduces the available switch ports for node connectivity.

Answer: D

NEW QUESTION 35
Based on the exhibit, what does the "X" represent in the FCIP tunnel configuration?

A. E_port
B. EX_port
C. F_port
D. VE_port

Answer: B

NEW QUESTION 38
What accurately describes a software- defined architecture?

A. Supports only central management of private cloud resources using a pre-defined policy.
B. Provides a unified management platform for centralized monitoring and administration.
C. Uses only converged and hyperconverged infrastructures to offer services to companies.
D. Provides decentralized, manual, and policy-driven IT resource management.

Answer: B

NEW QUESTION 40

What is an advantage of deploying a purpose-built, disk-based backup appliance in a data center environment?
A. Eliminate the need for performing source-based deduplication.

B. Convert the capital expenditure to an operational expenditure.

C. Lower the recovery time objective of an organization.

D. Retain the fixed content for longer periods in the data center.

Answer: C

NEW QUESTION 42

What is a key advantage of implementing FCIP?

A. Provides a disaster recovery solution by replicating data across data centers.

B. Enables migration of VMs across data centers by using existing FC networks.
C. Ensures lossless transmission of FC traffic across data centers over Ethernet.
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D. Provides a dedicated network for transmission of storage traffic within a data center.

Answer: A

NEW QUESTION 47
If a company has experienced a passive attack on its IT infrastructure, how is the company's security impacted?

A. Access to services is denied.

B. Availability of data is affected.

C. Information privacy is compromised.

D. Data is altered by an unauthorized user.

Answer: D

NEW QUESTION 52
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